20244 3H28H

RHEEFBHEICEIHABMEDHEIZDOLTHEIIHER)
(2024455 A #R gt 53)

BIAHR%R S+
(/NFE & %S :B0003)
LU TIH,. KBEEL=2023F12 AN 5202452 B OFEHFEFMEGICEDE, 2024 FE5 ARt DHR

e (BAHE)%E. 2024F48RREDIZHER1MBHT-Y1.60A (Fid) EAIFABIE TULNV=KIEELYE
LE=OT. BHM5ELM=LET,

HICKY, ZERE(NLAHEYISMIER) ADEEIL, 2024F4A Rt LLEEL T, 24HD5|E
LiIFELYFET,

HE.2023F2ABH DDA RBENS, ER - T A MK B EENN REEORF X IEEBEZ-EFE
[F1mH-Y0ARBRENTLEL=A. 2023F 108D &Y Imb-YIsHDES|=ELYET,

O—#RRHH &

I . (jﬁ ﬁ%ﬁﬁ)
GEERS %(F?/*g% 5§1M*4§(H/TJ; (%%fn%)
HERA omms 18MZET 876.70 210.29 208.69 1.60
H&ExRB 18MZEHBZ13IMET 1,483.90 177.30 175.70 1.60
#HERC 139MEBR LGS 1,985.50 173.69 172.09 1.60

CHBADIHEAZICELT A~COBHENBREINET,

OREREICEITE5E

GHEFA)
1 BOCHERE 5ADHR¥E ARDAHAEE SLEEE
15m 4031 M 4,007 M +24 H

(D REREOARAERER. FR2IFEDTHFEAERMBEIHSTHEELTVES,

*HAMEDELE

PEE — EXHE B S _
[ e ]_ [ ®id) J+[ (BEMEHE (BA) + SRERCRIEEE®) ) ] X [ ERE ]

(ARBUVET)




<ZEEH>

1. BRI (Z DL T

<EHRFEHEEOE LK >
5 JR R A% = LNGEH@E  x09788 + TO/NUEHEE  x0.0233
100,710 (m,v) x0.9788 + 89,820 (1) x 0.0233
= 100,670 (M. H(10Mk#mEE T A)
B[RRI DEIR (M.t
2023%E12H ~2024%28 [ 20234118 ~2024%1H —
(5A#EH) (4R B8 il
5 R R A 100,670 98,940 50,150
LNGE ¥ {f+ 100,710 98,930
O/ 89,820 90,590
[RFHERESIZE = S5 R FHE A — HEFHRERPEE
= 100,670 (m.v — 50,150 (M.t
= 50,500 (M. t)(100M kT
2HLAHEDREIZOINT
<BfHE£0EHA>
BiHe = HEHGHE 4+ BT SRR
HEHSRRE = 0.081 (M. n) X [RAMAE BB /100 (®@.v X (1HHEHRR)
= 0.081 (m.m) X 50,500 (m.t) /100 (m.v X 1.1
= 44.99 (@ n) IN R IR T
(%) ERMER T EEE100M /tIZDE, 1mM&HT=Y0.081AARLET
(H/m)
HAEBEMBE B eRREE S5PREMHE
HERA 180.30 210.29
#EXKB 147.31 29.99 177.30
HERC 143.70 173.69
CEEFA)

KBFDOXIET, 15A/ MHIMESIEESNTLET
(FRHEREHEDOHE]
O ABL—IORBMEROESHFICLIEFEBRDOEHCHELT. BAAABEDOEMAME (1 MbHT-
Y EAf) ZRET HHETT

@ [EAEFIRHMEE (50,150 t) |&N FHRFEHEGREER A D57 ARIA L34 ARID37 A F 1
[ZBMHALNG, 7Aa/NC DA KR IVEE) IEDELEICE DT, BEMBEKROZEE100MIZDE. 1
m&1=Y0.081 A ELIHEEFBN-LET,

@ FRMERDEBNCDOLTIL.LNG, TANVELE ZREERBICKVETS,



